OH DEER

Intro: In this activity you will model another type of cycle in nature, the cycle of natural
populations. In this case, you will be modeling how the size of a deer population changes
over 10 years. You will determine the carrying capacity of this deer population.

Background info: All organisms including deer need suitable habitat to survive. FHabatat
includes food. water, shelter and space. If all four of those things are present in “'_Cf
correct amount then the organism will survive. If one of those four is not present i the
correct amount, the organism will die. Because food. water. shelter and spacc arc.
necessary for an organism’s survival — because they determine the size of a population
they are called limiting factors. In the space below. list some other limiting factors that
might affect a deer population.

il el €c X3
/;7\ > j'/?\rt—\?a( O e '/WM

The maximum size a population can grojw to is its Cal‘l‘ji11g capacity. Rimiting factors
prevent populations from growing beyony_the-carrying capacity. [n#His activity vou will
get a chance to see how a population’s size ¢ es_or fluctuates over 10 vears as well as
what the carrying capacity of this population is. g

Procedure: :

I Halt of the class will start the activity as deer: the other halt will be habitat
components: food. water and shelter.

0. Pay attention as your teacher shows you the signals for the three habitat
components.

B Line up in the appropriate line facing away from the other line of students.

4. [ you are a deer. decide which of the three habitat components you will be
looking for. Make that symbol.

3p [t you are a habitat component. decide if you will be food. water. or shelter
and make that symbol.

0. When the teacher says go. turn around and face the other line of students.

A If you are a deer. look tor a habitat component making the same symbol as
vou. If you find one. go over and get that component and bring it back to your
line. #

. [t vou are a deer that does not find what youre looking for. vou die and join
the habitat conuionent line for the next round. h

9. [t you are a habitat component that gets taken by a deer. vou join the deer line
for the next round.

(). Continue until you've completed 10 cveles.




Data:

Chanee in Size of Deer Population over a Ten Year Period
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Graph the data from the table on the ¢rid below. Remember to title your oraph. label
both the x and y axis. and make your graph fit the entire grid.
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uestions: Answer in complete sentences in the space below.

What is realistic and unrealistic about this activity?

What four things do all organisms need to survive’

What are six limiting factors that affect survival of organism?
How do limiting factors influence carrying capacity”

What seems to be the carrying capacity of this deer population”
How do limiting factors affect competition between organisms’

Why is good habitat important for animals? | _
Are wildlife populations static or do they tend to fluctuate as part of an overall

balance of nature? Explain. |
D, Is nature really ever in balance or are ecological systems involved 1n a process

of constant change? Explain. Sodle -
L0 What might have happened to our graph if we had included a third miting
factor: predators?
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